SUMPO SuMPO EPD SUMPOIRIESAINTOI5 s

EPD - — R EE A Y AT IR RS
' AAAAA S4TFTINEBIBEBEE (EPD) ERHT AR AHE1-14-8
VERIFIED KANDA SQUARE GATE
B85%%FS © JR-BC-20002E-A https://ecoleaf-label.jp
hAREMKA = BERNNESM Bt/ T (BRBE-EE
Nakamoto Zourin Co.,Ltd #)

Pliciic:

Gendai GendaifETHl CKE) Gendaift THI (BA)
HEHN ERES JR-BC-20002E-A
85 1 massEy (B © 15m) BEAPCRES  PA-120000-BC-03
PCR% A REARS
HEX SRR YNEI=| 2025535288
ORHREF W R RS WEEEEH 2025538 24H
(A)EMRIERE, (A2l EM Rl X, (Al REE REEA Bl S BIREES 2
RIAES JV-BC-24002
IRIEEEAR  20305F3A23H
HmOBER, TELKR-ET PCRLE1-DENE
- RMES : £96.1kg (RRICEHBHAEE : 1100%) W= H% 20234 118 178
P RERRS ZEE Lz @
LEBTSEBETIBTERE (AERGTIIE) R R A AT TR

RS TRIXIEE - B - BREENELTRE S= =R

SEPIREEE  BRoT BiE
1501402565 £ TMISO21930ICHS AT E R UT-F DML

IREE
CJAER | PaNid
*YAT LRI EZ B EZEANDKRIIDIZE L. VAT LARAZTEEEED
HRIEEEH,
FWEhEE
T738-0224

LERHBETHEMS 08
hAREMRA st BER EER
Tel 0829-72-0222 Fax0829-72-1637 https://www.nakamotozourin.co.jp
E#kES ¢ JR-BC-20002E-A



SuMPO EPD SUMPOBERIESANINTOI T

sots — R EE AV AT F I S
.| ..oE PD S4TNBIEEE (EPD) HEAT R EXPIME1-14-8
YERIPIED KANDA SQUARE GATE
E#&ES © JR-BC-20002E-A https://ecoleaf-label.jp
OF1 TV IV EFMmER
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 3.5 | kg-COqeq
ERMEAL 0.0045 | kg-SO2eq
ERHE 0.000029 | kg-Sbeq
m DIF# #4372 m Q% nQEE
2F HH W OBfI a5 OEMHHE| QE Ok
SURZ & kg-CO.eq | 3.5E+00 9.2E-01 7.3E-01 1.9E+00
AV EHEE kg-CFC-11eq| 2.9E-07 8.7E-08 9.8E-12 2.0E-07
[k |4 kg-SOzeq | 4.5E-03 5.8E-04 2.0E-03 1.9E-03
W ARUEE kg-SO.eq | 2.2E-03 3.4E-04 8.3E-04 1.0E-03
FHALFEAFIT Vb kg-C:Hseq | 4.4E-05 8.8E-06 1.6E-05 2.0E-05
BEEEYEFENAM) kg-CsHeeq | 2.4E-04 2.1E-04 3.6E-06 2.4E-05
BEEFEYME(EN) kg-CeHseq | 4.9E-05 4.1E-05 2.4E-06 5.9E-06
KEEREEM kg-CeHeeq | 2.1E-01 2.1E-01 1.2E-07 1.7E-03
Btk 4 RES T kg-CéHeeq | 1.3E+00 || 1.3E+00 1.9E-06 4.0E-02
ERE kg-PO.*eq| 1.8E-04 1.8E-04 7.5E-12 5.1E-08
3 B (HE) m?*/ 5 3.9E+01 3.8E+01 7.8E-02 1.3E-02
T A (RE) m?/5 2.2E-03 2.9E-04 1.6E-03 2.9E-04
EREE kg-Sbeq 2.9E-05 1.6E-05 3.0E-06 1.0E-05
OB RUME(BIY MRS
IHE BifiL mH-9E (ERHS) HifiL
FEERER 2.9E-02 kg BErZ 6.1.E+00 kg
FEBAEFREIRIY - 1.2E+00 kg Ry bbb 5.4.E-03 kg
FEBFERREIRIF- 5.1E+01 MJ Wart (¥aurI74)b0) 5.6.E-03 kg
BAERREER 9.8E+00 kg ®at (PPAVE) 4.4.E-04 kg
BAEAREIRIY- 6.8E+00 MJ -
KIKDHEE 3.8E+01 m? -
HEHH, CO2(b B &IRm®R), K5, FE | 3.4E+00 kg -
R, B, 44.7MU/kg, B, B FTRIANF- | 7.8E-01 kg -
P, BRUERAAY, X5, FEE | 5.5E-09 kg -

@FEEYEIEFR

= BT
BEREY - kg
BERZEY 3.8E-03 kg
—fRFEEY) 1B 4,0E-11 kg
EEEEY 2BIY 3.8E-03 kg

HKIMTYIINICBIREMRBERLTVNET,



SuMPO EPD SUMPOBERIESANINTOI T

SEUMl:P;)D = — B EE AV AT P IR E
q | .. AAAAA S4TNBIEEE (EPD) HRHTRAXAHE-14-8
VERIFIED KANDA SQUARE GATE
E#&ES © JR-BC-20002E-A https://ecoleaf-label.jp
GHEEfREEICEATZEMIER
AFHETIE. 20235107 ~20245F9 A DIFFEDT—2ZHEIC AL sDEMBETE nQiE =Q4%E
AT —REEHLEL -, XL OIERIOEET — 4% INEL T
BLEL . TNICZRT—4%2RTIHILT. BEAMEFHEHLT SURZEE
WET, 45 ARRE. BB TBEERTHTLELTEY, X% Khddchn
ERIATHBOTEHELL>TVET, HARARRE R
SHORR., ARG PEELATLIXRMLLIRENRLD _ HiEerEs Sk
SERDRUELE, BELFIE. BRECGE GRS e LR
M. RIREE., AV U BRIEGE (XA ]EGEEDZENTENE = 7}(5555%%&
RYELE, B A RES
RREREELZPCROMBEFITEDE, BHLEL, EEEL
Ik FEE (kg-C) T H#uF A (M)
= MPPOARAMDLEEE (kg-A#) x0.5 ii&*'!ﬁﬂi(ﬂf?ﬁ)
= 6.06 (kg-<#) x 0.5=3.03 (kg-C) RRAR
* CO2I B I :11.1(kg-C02) 0% 20% 40% 60% 80% 100%

©-1.Z Dt DIRIFEEDEIEIR
(2L

®-2.BEMHEICRAT 215K
IHH CAS No. ESE

OERLEZRT-9DERS
IDEA ver.3.1.0%{EA LT,

®feE

OT-IBEEDHEE. PCRELUVETE - ESHEESBL LI,
OLLRIIDOVNTE BEE - EERBICREINRZHEHLLLSGECLYEHONEE A,
(BRI EURL : https://ecoleaf-label jp/regulation/)
E#H&HFS ¢ JR-BC-20002E-A



